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Please check that this question paper contains 8 printed pages and 2 pages of maps.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 26 questions.
Please write down the Serial Number of the question before attempting it.

15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 am. From 10.15 am. to 10.30 am., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

)

(i)
(iti)
(iv)

o)

{vi}
(vii)

There are 26 questions in all,
All questions are compulsory.
Marks for each question are indicated against i.

Question numbers 1 to 10 are very short answer questions carrying I mark each.
Answer to each of these questions should not exceed 20 words.

Question numbers 11 to 20 are short answer questions carrying 3 marks each. Out
of which one question is a value based question. Answer to each of these questions
should not exceed 80 words.

Question numbers 21 to 25 are long answer questions earrying 5 marks each.
Answer to each of these questions should not exceed 150 words.

Question number 26 is related to identification or locating and labelling of
geographical features on maps.

(viii) Outline maps of the World and India provided to you must be attached within your

(ix)

answer-book.
Use of templates or stencils for drawing outline maps is allowed.

1. ‘37T 991 % §H % =T HROT & Iooig FIAT | 1

Mention the root cause of ‘acid rains’.

2. THFW m R E . 1

What is truck farming ?

3. IR & WA TR % HE S St AR | 1+1=q
Give any two examples of ancient towns of India.
4. TN & HRH TEEITIE A B Ieerg HIAT | - 1

Mention the busiest ocean route of the world.
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10.

11.

12.

13.

e Y % s Fal 3 Wt a6 9 SRy | st3=1
Name the seaports on each end of Suez Canal.
WA & T A5 TR F ufeHt 7 W FHY T IqE HYE 99 & A JaR’ | 1

‘Name the major seaport which was developed just after independence on the western

coast of India.

Wwﬁwﬂmw%mwmﬂqﬁ?#wﬁﬁmﬁmwwwﬁm
FART | 1

Name the port developed as a satellite port to relieve the pressure at Mumbai port.

I o TEH 92 SHHH AHER 39 H A qa46 | 1

Name the country which is the largest trading partner of India.

oI Toharerety wiey =k e <R | | 1

Define the term ‘quaternary activities.’

3R foray’ o 3Y SaRT | i

Give the meaning of ‘digital divide.’

“wfifie it S AT T % el o HeR TR STIahRaT gt & 1 39 A @ 39gE
IR [igd e wiftw | 3x1=3

“There is mutual interaction between the elements of Physical Geography and Human
Geography.” Support the statement with suitable examples.

TR 98 I ot e wewr o & 2 3t g 1 faeivant fifaw | 1+2=3

What are the traditional large scale industrial regions ? Give any two characteristics of
them.

waﬁmaﬁrmﬁuaﬁaﬁﬁaﬁwmﬁﬁm Ix1=3

Differentiate between rural and urban settlements of India in three points.
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(14.3) TS <91 & T8 T TR 8, S0k T a8 wnT anfires gnet & w5 1 1 A e k0

Study the map given below and answer the questions that follow :

el i | Y

(14.1) Name the railway line shown on this map.

(14.2) Name the terminal station of this railway along the Atlantic Coast.

(14.3) Why i1s this railway line known as ‘economic artery’ of the country
through which it passes ?
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(14.1) HHW % W9 o TR-HETE T {erHr S A 9qEd |

(14.2) TH TN F AP Hewd T HIT |

Note : The following questions are for the Visually Impaired candidates only;
in lieu of Q. No. 14.
(14.1) Name the longest trans-continental railway of the World.
(14.2) Explain the economic significance of this railway line.
15, AR SFTAE &7 famrE AT % e STl o sne FT | Ix1=3

Explain the main aims of ‘Bharmaur Tribal Area Development Plan’ ?
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Study the diagram given below, showing the location of an important steel plant of India,
and answer the questions that follow :

Steel Plant
orba
Bitaspur g

S G Y AP
Balaghat DR | b
o M"ﬂ“’\_—" _‘_,___‘:._‘
3] ¥ / Mahanadi River
I {
TN il e/
,1“:/ \\ Dl’n‘g }(Ralpur /
o St i ! Steel Plant

/

*
. <1 & Dolomite
Dalli Rajhara Hills / ) . :

Manganese
% Iron Ore

ﬁ' Coal
Tancula .‘} Iron

Tank | Raibway

(16.1)  Identify the steel plant and name it.

(16.2) Mention the thermal power plant which supplies power to it.
(16.3) Mention the source of water for this plant.
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17.

18.

19.

20.

21.

Az : Fetatad wee Faa gl whafaal  Fo e dem 16 F RA WE:1+1+1=3
(16.1) THRPE O ¥9 % WA ¥ 6 gara T2 Y T & S o 2

(16.2) 3 a9 VAT WG 1 A0 TATRY, S 39 TIF ! W(HRT Bl YR AT € |

(16.3) 39 6537 % fau s/t & 99 1 Seeig HifAT |

Note : The following questions are for the Visually Impaired candidate’s only; in
lieu of Q. No. 16.

(16.1) Which steel plant was established with Russian collaboration . in
Chhattisgarh ?

(16.2) Name the thermal power plant which supplies power to this plant.

(16.3) Mention the source of water for this plant.

AR % @i FEeAT & 6 o g faeivmrat e Fi | 3x1=3

Explain any three main characteristics of mineral resources of India.

e # i) sfet # el i v weeet 6 aue Fi | 3x1=3

Describe any three major problems of slums in India.

TR § 3UE GO F fHE] | @I 1 auie ST | 3x1=3

Describe any three advantages of satellite communication in India.

“FaT STt HUEr % a1 SR T goal % favemor FT | 3

Analyse the economic and social values of rainwater harvesting.

HR A weferd ‘aiirsg g aer #i e i favedret w aoe St | 5x1=5

Describe any five characteristics of ‘Commercial Livestock Rearing’, practised in the
World.
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22, SIHH % AN W, WEW F wrer sfieal % 6 ot whreat @ avi i | 5x1=5

Describe any five patterns of rural settlements in the world on the basis of forms or

shapes.

23. UF I TeA & 0 H fave R @ed @t afie w1 & 0 39 2 g fava s mw
TS ! AT 3491 78 & 7 T i | 2+3=5

What is the role of “World Trade Organisation’ as an International Organisation ? Why

has the World Trade Organisation been criticized by some countries ? Explain.

24, HEAR H FAGEA G & A1 g2l ) S FT | SHEE aRadT $ ueEt B faves
HIY | 3+2=5

. Explain the three components of population change in the World. Analyse the impacts
of population change.

25, ‘HE WK uidmr ST | 9ra | yar & wmiie ot galarvig aftonst @ samen
HifeT | 1+2+2=5

Define the term ‘migration’. Explain the social and environmental consequences of
migration in India.

26. (26.1) WIER & f{U MU T @A § 9 S A, B, C 3R D sifwg T e ¥
T S B TEEH A & T TEE B TRE W FIT ST I a8 S it %

ﬁ%@ﬁﬂ%”@‘i@ﬁﬂfﬁf@? 4x%=2
A UF HEEy W OwE

B: e uremd et % v i @ wve

C: FramTusn s oway

D: URMH Ta® 7 SIS gig g atel 39 (1995-2000)
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(26.2)

(26.1)

(26.2)

_e

(26.1)
(26.2)
(26.3)
(26.4)
(26.5)
Note:

(26.1)
(26.2)
(26.3)
(26.4)
(26.5)
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A.  TEg A GRRET T e T
B. S % SERA W 30N T4
C. Ud STl SR Tag o

In the given political outline Map of the World, four features A, B, Cand D
have been shown. Identify these features with the help of information given
below and write their correct names on the lines drawn near them.

A: Animportant sea port

B: A terminal station of Australian Trans-Continental Railway

C: An area of subsistence gathering

D: The country with lowest growth rate of populatlon (1995-2000) in Asia.

On the given political outline Map of India, locate and label the following
with appropriate symbols : :

A. The state having highest literacy rate.
B. The leading state in the production of Jute. '

C.  The northern most international airport.

Pt o et gfeantare wftenfiat & e e HEm 26 F WA WE: Sx1=5
fiqor e 3 e ST 3 8 1 e BT |

oforar ¥ W i SEE 9ig T (1995-2000) I ST H A FART |

R g S Qe 5T Ree T @t 0

e # S & IAEA | SAUCH T AR ARy |
W%wﬁaﬁﬁaﬂﬂ@ﬂmwwwaﬂml

The following questions are for the Visually Impalred candidates only; in lieu of
Q.No.26:

Mention an area of subsistence gathering in South America.

Name the country with lowest growth rate of population (1995-2000) in Asia.
Which state has highest literacy rate in India ?

Name the leading state in the production of Jute in India.

Name the northern most international airport of Indta.



Map for Q. No. 26.1
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Map for Q. No. 26.2
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